10.

11.

12.

13.

14.

15.

Question Bank For BDP Course
&% 215%™ ( Elective Course )

3if9e5 ( Commerce )

QO 9a ( 3rd Paper )
Business Organisation & Statistics : ECO-03

Group - A
( Business Organisation )

The form of business organization that has the largest sales volume is the..............
RN RGN (P [0 3R (AF @ ReFg 27 2

The structure in which there is separation of ownership and management is
called..............
TeTFIT 8 GLEIH FCG OFIR T (FIA AN 2

The karta in Joint Hindu family business has..............
(e 2 AR FOR MG ...

The board of directors of a joint stock company is elected by..............
(2 PRI AfSHIT #AfB 27 = FA 2T ... RGEREN

The maximum number of partners allowed in the banking business are..............
iefFe AT 7 (ACE QA SRS AP A ..

Profits do not have to be shared. This statement refers to..............
TP 2 A0S 20 1, 93 A0 SEL I oo

The main disadvantage of a general partnership is..............
S SR 2 SR 2T .

The capital of a company is divided into number of parts each one of which are

CRICT HRASCA TS W Sl 11 A, SITSJF S T 2 ...

The Head of the joint Hindu family business is called..............
(T f2 MR RPN LINCE T2 o

Which of the following is an advantage of a sole proprietorship?
Jferaie ATFIE 2l Ja 2o .............

Provision of residential accommodation to the members at reasonable rates is the
objective of..............

SN 3Ly PRICTE TIE T TR Sy 2

A partner whose association with the firm is unknown to the general public is

GG SIS T SRR AT T FICR SGri| ©f 2

The simplest form of business ownership is a..............
RN TR FRICACE TG A5 24 ...
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Group -B
( Statistics )

The middle observation in an arranged set of data is called..............
SR TS A AP N2 .o

The n™" root of the product of the values x*, x?, x3, ..., x"is called..............
X2, X2, X399 AT N TG GNP ..o

A bar chart constructed in which the area of each bar is proportional to the number of
items in each group is known as..............

93> 919 516 TR ATSIFG bar @3 area TN AT group-9F (G MRAF SHAISET R,
OIF T ...,

1st quartile is also known as..............
A quartile (F I 2T............

The square of the standard deviation is called..............
Standard deviation-99 square (= I ¥ ..............

Inthe set 2, 4,5, 4, 6,5, 3, 4, 2, the mode is..............
2,4,5,4 6,5, 3,4, 2set-99mode 21..............

When the cumulative frequencies are plotted against the end points of their respective
class intervals and joined together, the resultant graph is called..............
2TOJF FM interval (F M GFHC (M9 F41 2T, @32 cumulative frequency (F graph-a9 (3

2T S<PT 27 O12C graph B MR ...

The table which shows the frequency of each score is called a..............
(X (BReT 2To5F A frequency show (I OI(F fe 30T 2

The monthly incomes of 5 persons are 3000, 5000, 4000, 2000 and 6000 respectively.
Their arithmetic mean should be..............

5 o Jfes T oY IAF 3000, 5000, 4000, 2000 «<r 6000 OIFT | O
Arithmetic mean 2(< ..............

The positive square root of the mean of the squared deviations of the values from their
mean is known as..............
Squared deviation-&9 (= =19 square root (B & (a1 2

The harmonic mean of 3, 4 and 8 is..............
3, 4 Uk 8-99 Harmonic mean 9 ?

The geometric mean of 2, 4 and 8 is..............
2, 4 9% 8-99 geometric mean $9 ?

The most frequent observation in a data set is called..............
WG] frequent observation (3 % &1 27 2

The total number of observations, which are below a certain value, are known

CIID 25 A (6T Qb1 AN = (AF I ST A
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